Precalculus Name A
6.3-6.5 Review - vectors Period Date
Determine whether u and v are equivalent. Explain.
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Find the component form and magnitude of the vector v.
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Find: a) u+v b)-2u-v both algebriacally and graphically. Show the resultant vector.

5. u=(4,5)

6. u=(1,-3)
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Find the component form of w and sketch the specified vector operations geometrically, where

u=3i—2j andv=i- 3j.

9. w=4u-75v

10. w=-3u+2v
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Find the magnitude and direction angle of the vector v.
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15. v = 7(cos60°i + sin60°j) 16. v = 2(cos210°i + sin210°j)
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18. An airplane has an airspeed of 430 miles per hour at a bearing of 135°. The wind velocity is 35
miles per hour in the diection of N30°E. Find the resultant speed and direction of the airplane.
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19. Anairpland has an airspeed of 724 kilometers per hour at a bearing of 30°. The wind velocity
is 32 kilometers per hour from the west. Find the resultant speed and direction of the airplane.
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Find the dot product: u - v
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Find the angle 6 (in degrees) between the vectors.
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Plot the complex number and find its absolute value.
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Find the sum or difference of the complex numbers in the complex plane.
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Plot the complex number and its complex conjugate. Write the conjugate as a complex number.
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Find the midpoint of the line segment joining the points corresponding to the complex numbers.
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Find the distance between the complex numbers in the complex plane.
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Find the sum or difference of the complex numbers in the complex plane.

32. (4+7)+(-3-20) 33. (=5+6i)— (=3 +9))

34. (10 +120) — (=3 - 20) 35. (44 70+ (—4 - 2i)

Plot the complex number and its complex con)ugate Write the conjugate as a complex number.

36. z=-2+7i | Ky ', 37. z=5-3i L Ny T

%

A
A

> :

Y i A I DRI . A

Find the midpoint of the line segment joining the points corresponding to the complex numbers.

38. 4+8i,—-2—6i 39. -1-7i,3—-6i

Find the distance between the complex numbers in the complex plane.

40. 1+1i,-5—6i 41, -5+2i,-1-6i
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42. v=(5,-2) 43. v=(-3,9)
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Let v = (3,—1) and u = (0, —2). Find the magnitude of each.
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